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|Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

|Answer ( Please select your correct option )

I Infinite mumber of points

Two points (one posiive and one negative)

e]

A unique point

Mone of these
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Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

‘There is one-to-one correspondence between the set of poinis on co-ordinate line and -

|Answer ( Please select your correct option )

Set of real mumbers

e]

Set of integers

Set of natural nunbers

Set of rational numbers





[image: image3.png]MTHSUT Calculus 11
|Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (&)

Wihich of the following is associated to each point of three dimensional space?

|Answer ( Please select your correct option )

A real number

e]

An ordered pair

An ordered triple

A natural number
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|Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min)

Al axtes are positive in --

|Answer ( Please select your correct option )

First

Second

Fourth

Eighth
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|Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min)

‘The spherical co-ordinates of a point are

L
32

Wihat are ifs cylinderical co-ordinates?

|Answer ( Please select your correct option )
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Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Suppose f(x, ¥) = 2y = 2y where x=3t+1 and y = 2 . Which one of the following is true?

|Answer ( Please select your correct option )
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|Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) =)

Letw="(x, , 2) and 2= g{r, 5), y = hir, ), z=1(r, s then by chain rle
aw

E3

|Answer ( Please select your correct option )

dwax Gwdy md
O|aar ayor aar

owar oy G
O arar ardr ardr

dwar dwdr dwir
O|larax oray arae
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|Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min) (&)

Magninade of vector a is 2, magnitude of vector b is 3 and angle between them when placed tail to tailis 45 degrees. Whatisa . 5 7

|Answer ( Please select your correct option )

45
ol

62

51

42
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|Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

Is the function  (x, ) contimsous at origin? I not, why?

[0 fx20amd y20
S {1 Otherwise

|Answer ( Please select your correct option )

/(x, ) is continous af origin
e]

(0. 0) is not defined

0, 0) is defined but | . ») does not exist
F©0,0) s defined but | lim £ (x, ) does not exis

F(0,0) is defined and_lim

(x, ) exists but these two umbers are not equal.
° [





[image: image10.png]MTH301 Calculus Il
|Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (&)

Ts the finction  (x, ) contimions at origin? I not, why?
3y
s L) =0
o e ¥ (%)

0 ¥ (x2)=0

|Answer ( Please select your correct option )

/(x, ) is continous af origin
e]

(0. 0) is not defined

0, 0) is defined but | . ») does not exist
F©0,0) s defined but | lim £ (x, ) does not exis

0, 0) is defined and_lim 7 (x, ) exists but these two numbers are not equal.
° [
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|Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min)

L=l

Let R be a closed region in two dimensional space. What does the double integral over R. calculates?

|Answer ( Please select your correct option )

Area of R
e]

Radius of inscribed circle in R

Distance between two endpoirts of R

None of these
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Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Wihich of the following formula can be used to find the Volume of a parallelepiped with adjacent edges formed by the vestors @ , b and ¢7

|Answer ( Please select your correct option )

T
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|Question No : 13 of 26

Marl

(Budgeted Time 1 Min) (=]

Two surfaces are said to be orthogonal af a point of their intersection i their normals at that point are

|Answer ( Please select your correct option )

Parallel

Perpendiclar

In opposite direction
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[Question No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) =)

By Extrene Value Theorern, i a fanction & ) is continuous on a closed and bounded set B, then 7 %> ) has both - onR.

|Answer ( Please select your correct option )

Absolute maximum and absolute minimum value

Relative maximum and relative minimum value
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|Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min)

Let the function ¥ %) has continuous second-order partal derivatives
2
(s 70) g por = Fos o o) Ty O Y0) = 17 (- 7o)

£ D50 g S ¥0) <0 o poe

T

and [, |
' in some cirele centered at a criical point

I3

Bl

|Answer ( Please select your correct option )

Relative masimum at (%02 Yo)

Relative miisnun . (%0 Y0)

Saddle point at (. 7o)

Mo conchusion can be drawn.
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|Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min)

Let the function ¥ %) has continuous second-order partal derivatives
2
(s 70) g por = Fos o o) Ty O Y0) = 17 (- 7o)

[FN

T

and [, |

' in some cirele centered at a criical point

I3

=il

|Answer ( Please select your correct option )

' bas relative masinum at (o> Yo)

7 has reltive minimum ot (%02 70)

J has saddle point at (. 7o)

Mo conchusion can be drawn.
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|Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min)

T R=RUR, where & and &, are no overlapping regions then

S y)dd+ j j Sflx3)dd=
B

|Answer ( Please select your correct option )

a || Fy)dA

of [ e sx vt
E B

I3

&l

a || S

I J] /(x.r)dﬂ] floy)dd
E B

I3

&l
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|Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min)

IFR={(x»)/0< x< 2and1< y < &) then

ﬂ (627 +dpf)dd =

|Answer ( Please select your correct option )

ol i :[ (65 + 4" )dvdx

(652 + 4" )dxdy

— -

i

(652 + 4" )dxdy

]
— -
i

ol j :[ (652 + 4" )dxdy
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|Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min)

FR=((xy)12 <5 <Aand 0 y < 1) then
ﬂ (4xe™)dA =

|Answer ( Please select your correct option )

s
J I (4xe™)dydx

e]
s
IJI (4xe™)dxdy

P
J (4xe™)dxdy

]
— -

2
ol JJ (4xe™)dydx
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|Question No : 20 of 26

Warks: 1 (sudgeted 1ime 1 Min)

[

FR={(x»)/0< x<4and 0 < y <9}, then

ﬂ (G- dxfr)dd=

|Answer ( Please select your correct option )

ol :[ j (Gx—4xf)dvdx

(Gx-4xf)dxdy

]
— -
e

(B =4[ )drdy

g

ol

j :[ (Gx—4xf)dvdx
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[Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) (5]

Suppose that the surface f (x, , 2) has confinuous partial derivatives at the point(, b, c) . Write down the equation of tangent plane at this point.

|Answer ( Please click here to Add Answer )

D@ ESR[YE @] =[5 6§ @[]
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Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) ()|

Evaluate the following double integral.
ﬂ\ 1207 -84 | dy dx
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Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min)  (=)|

Evaluate the following double integral.
ﬂ\3+2x—3y’ \dx dy

|Answer ( Please click here to Edit Answer )
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|Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min)

Let f(x, y, 2) ="
Find the gradient of f

|Answer ( Please click here to Add Answer )
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[Question No : 25 of 26 Marks: 5 (Budgeted Time 10

Find, Equation of Tangent plane to the surface £ (x, y,2) = 2* + * +2 =9 at the poiat | * 24/

|Answer ( Please click here to Add Answer )





Use double integral in rectangular co-ordinates to compute area of the region bounded by the curves 
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|Question No : 26 of 26

Warks: 5 Budgetod Ti

Use double integral in rectangular co-ordinates to compute area of the region bounded by the curves y = *and y = %

I3

|Answer ( Please click here to Add Answer |




